NCL -Written test for the Post of Technician Welder (Trainee) Cat. II, in reference to E.N. 466/10-07-2020, SET A

Section A (Question No. 1 to 70)
1 | Which of the following gas is essential for fire? | 3T & fow Fufiad & T A @ﬂ T 3{TaRTP §?
A) Nitrogen B) Carbon dioxide NG I EFSE] B) BTa SIZAHRISS
C) Oxygen D) None of these aﬂa:gﬁ\—ﬂ D) TH Y &I gl
2 | Which of the following gas percentage is ﬁm?[ T PF O 1 ! ufa=radr agHSd T
maximum in atmosphere? Haifie g7
A) Oxygen B) Nitrogen A) SHIRToH DEIEEEE
C) Acetylene D) Co, D) Co,
3 | Which of the following is not found in non- &l?ﬁ's’ 0y gt | FafeiRad | 3 1 =7et urn
ferrous alloys? ST g ?
A) Lead B) Tin A) T B) fed
C) Zinc D) Iron C) STl D) gl
4 | Which of the following welding process uses | FHfaRad # ¥ ®H I AT Uik IR-ITHT
non-consumable electrode ? ZATCIS BT UGN BT 82
A) Gas Tungsten arc welding A) T TReA 3{Teh afee
B) Shielded metal arc welding B) aRRAEr oTq 31 e
C) Co, Shielded welding C) Co2 qﬁ;ﬁﬂa a-[%ﬁm
D) None of above D) SRIGd T A DIg :@
5 | Heat is created by the chemical reaction in | FTfIRId H ¥ fd IS Ulshar H ST BT
which of the following process? fgfor gar g2
A) Resistance welding A) TfaRIY afcgT
B) Friction welding B) TNUT Qfee
C) Tungsten arc welding C) STRe 3T afeeT
D) Thermit welding D) mﬂ%—c’ At
6 | The heat generated (H) in resistance welding is | TfaRIY afegT H I HOAT (H) fhd TSR o
expressed by: DI T 82
A) TRt B) IR’t A) PRt B) IR’
C) IRt D) 2IRT Q) IRE D) 2IRT
7 | The voltage needed in resistance welding does iRy If&T & P e fog R AWR EH
not depend upon: HIAT® ?
A) Composition B) Area A) AT B) &5hd
C) Thickness of weld D) Length of weld C) AT P HICS D) 9t &I TaTg
8 | Which of the following is not a resistance fafoiRed ¥ 9 &1 T UfoRiY afe T 781 6 2
welding? A) Te afedT
A) Spot welding B) S afee
B) Butt welding C) <9 afcET
C) Pressure welding D) 3{TaTd afegT
D) Percussion welding
9 | Which flame is suitable for cutting operations? | &I T Al BT B P [T IUIHI § ?
A) Neutral flame A) gcd
B) Carburising flame B) HRERISOAT @l
C) Oxidising flame C) SHTeHRoT o
D) None of the above D) SWRIad & I BIs el
10 | In arc welding, the three elements to be | 3fch AfcET H, HAoH® dAfceT TATAH U A
controlled to obtain satisfactory welding | % foru fFifAd feu oM a@ &9 9@ SR €7
operation are: A) BRE, dees 3R T Bt A
A) Current, voltage and speed of travel B) BC, dlcedl 3R 3{Th AaTs
B) Current, voltage and arc length C) Tc, 3Th IS 3R T D1 i
C) Current, arc length and speed of travel D) dieedl, 31 daTS 3R IIHAT B i
D) Voltage, arc length and speed of travel
11 | The commonly used flux in brazing is: Tih H AR TR XU B aTell i &1 g2
A) Rosin B) Borax A) ARE B) IINad
C) Lead sulphide D) Zinc chloride Q) IS Jhlss D) ISED a@ﬂg—g
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12 | Projection welding is....... TSR AT e ol
A) Multi-spot welding process A) AcSl-TTe afcgT ufspan
B) Continuous spot welding process B) AR Wic afcsT ufshan
C) Used to form mesh C) STt 591 & forw Sui fopar wirar @
D) Used to make cantilevers D) hfeeliar g9 & forw Ui fosar S @
13 | Seam-welding is......... -G e gl
A) Multi-spot welding process A) Hecl-WMie afcgT ufshar
B) Continuous spot welding process B) FReR dic afe T ufepan
C) Used to form mesh c)ﬁ[ﬁﬁﬁﬁ%ﬁmwmm%
D) Used for welding cylindrical objects D) STFTPR I8l & afcd™ & fore Sumim
ERIEIGIE
14 | In reverse polarity welding....... o gt afe@T 4 ...........
A) Electrode holder is connected to the A) 3AFRIS YRS Ficd A ST BIdT 8 IR BT
negative and work to positive Tifeifea ¥
B) Electrode holder is connected to the B) 309CIS YR® Ulviled ¥ JST BIdT § SR &1
positive and work to negative Mfea
C) Work is positive and holder is earthed C) S giiviied gIdl § 31k YRP %-qﬁ,—ﬂ T
D) Holder is positive and work is earthed e
D) YR Uifuifed gl & iR 1 YUl fsa
6L
15 | Flash butt welding is....... TRIRT TC TATCTIT © weorevresenrrssresenees
A) Gas welding A) T afegT
B) Arc welding with straight polarity B) T gad & WY 3T i
C) Arc welding with reverse polarity ) fad $[adl & 1Y 3& afET
D) Resistance welding D) UfaRre afc
16 | Preheating is essential in welding for...... | ... QST & foIT Qg &A1 fhafert ot 2
A) High speed steel ~ B) Stainless steel A) B Tig sWd B) SITRIEl 39T
C) Castiron D) German silver C) T d gl D) & RIear
17 | Weld spalter is....... @ Wk § ...
A) Flux B) Electrode coating | A) e B) SaldgIS dIfeT
C) Welding defect D) Welding test C) AfZT D) afcd uteu
18 | In MIG welding helium or argon is used in | MIG dfeE™ | Sl AT 3 &1 IUTRT fohy forg
order to...... fpar Smar g2
A) Provide cooling effect A) 2da UHE UgH & & g
B) Act as flux B) Heia & &4 H BT i & forg
C) Protect electrode C) SUACIS DI R T &b ﬁ«rq
D) Act as shielding medium D) D) URR&T T % ©U 8 7 3 $ faw
19 | Oxidising flame is used to weld metals like....... SHTFITHRT I T SUANT FgferRad fo T3l DI
A) Steel I A % fore foran S & 2
B) Copper and brass A) 3T
C) Carburised steel B) diT 3R Uida
D) aluminium, stainless steel C) Uaferd T
D) Ty, STRIh gwuma
20 | Acetelyne is stored in gas cylinder in....... wRifee 19 Ricier d o =0 | duied faa
A) In gaseous form B) In liquid form SIdTe ?
C) In solid form D) All of above A) g U § B) 49 ®U H
C) 3N U H D) SWRiad gt
21 | Neutral flame is used to weld metals like...... e Al I IUANT HFfaRad fbe urgs &1 d
A) Steel B) Copper and brass | & & foru fonar orar 87
C) Carburised steel A) TG B) diaT 3R Widd
D) Aluminium, stainless steel, zinc die Q) Uafera ¥
casting, nickel, monel etc. D) TegHifad, SRidh gwuma, S STS PIRST,
fliere, A g
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22 | The distance between root and fillet weld is FC 3R fthelc s & o1 &I g1 Bl Del
called: KIGIS
A) Reinforcement B) Leg length A) JeRiAe B) AT &Y
C) Root gap D) Throat thickness Q) =Y D) ¥e R
23 | The principal material used in soldering are: AeshT | IuanT o\ ardl e 9t §:
A) Tin and copper B) Copper and lead A) foT 3R aier B) TieT 3NR Hi™m
C) Tin and lead D) Zinc and lead ) fe7 iR T D) ST 3R T
24 | In fusion welding process, penetration is the | ToH afcET Uishar ¥, 3iqays Fufafea § 4
ratio of: frgeT S U 82
A) Depth of weld to length A) A Pl J|E;Q|£ 3UTd Q-iqlg;r
B) Depth of weld to width B) 4TS $1 XTSI
C) Width of weld to depth Q) ac_r:’ Gl ;,ﬁ-g-rg 3UTd TlETr’ic
D) Length of weld to depth D) e B ('Nl‘é 3T ‘|6<|$
25 | Forge welding is classified as: Bl AfeST B! [ UHR Fflerd fovan a1 |7
A) Fusion welding with pressure A) GET & 1Y o afesT
B) Fusion welding without pressure B) GETd & foi-1T TRIwi dfes
C) Non-fusion welding with pressure C) GaTd & WY AiA-TRS dfesT
D) Non-fusion welding without pressure D) &&Td & {1 AH-TRIwH afesT
26 | Which of the following statement is not true | ToR SIH aica T Uihdl & Yoy H FHfIRId H 4
regarding laser beam welding process? P I HYT I8! Tl 27
A) The process uses amplified light energy as | A) Ufshar 3feET & Hig & U & yafia usm
a source of welding Sl BT ST Bl
B) The process essentially requires vacuum B) Ufspan & 3fFarf Tu a aazgq CARSIGESE |
C) Power density of laser beam is much higher Tt e
compared to an arc welding process Q) 31 afeeT ufpan GSEll T FoR 919 7t
D) All of the above a9 CEE) 3P &
D) SWRIG a1
27 | In plasma arc welding process, the plasma is | WISHT 3T dfcsT UihdT H, WIoHT e GRI
generated by: IO BT /7
A) Low frequency AC voltage A) B ST Tt dleed
B) Low frequency AC current B) &Y SATqRI T Hie
C) High frequency AC voltage C) 3= 3{@%{ Tl qlecol
D) High frequency AC current D) 3= 3Mgfy T e
28 | Backfire, a small explosion of flame occurring | UfdsaaH, Al &1 Tdh Blel f[AThIe T fed IR g
at the tip torch in oxy-acetylene process is due | 9t ifoi-ufyfe<iT ufshan & forg HRU a1 82
to: A) T 1 GeTd gd HH BT
A) Gas pressure setting too low B) I AT
B) Nozzle overheated C) DIe- A=Y GRI TG Alold B%
C) Nozzle orifice blocked by carbon deposits D) SWIed # ¥ 318 ot
D) Any of the above
29 | Which of the following combination provide | FgfIifad ¥ ¥ @ I Jaio- I=dd dIHH
highest temperature? T HIa1 27
A) oxy -hydrogen B) oxy-LPG A) SfaR-gIE gl B) 3fial-uat Ut Sit
C) oxy-acetylene D) Air-acetylene C) sHirft-uffest= D) arg-uRifeaiA
30 | What is the purpose of flux in soldering? AT T T ST 3637 A1 57?
A) Prevent formation of oxide A) HIRIZS & 16 DI A
B) Lower the melting point of solder B) HiteR ITTHI® Pl HH Bl
C) Wash away the surplus solder C) Sy Hicg I F8MI
D) All of the above D) SR g+t
31 | For ultrasonic welding, thickness of metal is &IR'I@W af&T & ferg, %ﬂﬁ'q'ﬂﬁla'sg 3MAIR IR
usually restricted to: fha-t ufaefid Tl 87
A) 3 mm B) 9 mm A) 3 fordt B) 9 furft
C) 12 mm D) 15 mm C) 12 Tt D) 15 fat
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nearly equal to:
A) diameter of electrode (d)

32 | The welding position in which an electro slag | afeew RUfd S TH sdiaer AT ofeeT &
welding operation is performed is? fohaT SITdT § R B2
A) Flat B) Horizontal A) TUeT B) IHRIA
C) Vertical D) Overhead C) Tad D) RRITR
33 | What is the function of a gas regulator during a | 19 afcET B & TR 1Y UHS &1 T B 52
gas welding operation? A) 3t UBR 3 o U B
A) get the different type of flames B) 3MTA¥gh 3{JUTd o 9 e
B) Mix the gas in required proportion C) B+t A T8 arelt I BT HET See
C) Change the volume of gases flowing to the | p) HRiGRY g &I Fuifa B
blow pipe
D) Set the working pressure
34 | Metal active gas arc welding uses which of | 4Iq Ffehd 71T 3iTeh dfed™ FHferiad & ¥ fovd T
following gas? BT ITUNT Bt 32
A) Carbon dioxide  B) Nitrogen A) FIE SRATZES  B) AGEIoH
C) Argon D) Helium D) g‘ﬂ%rm:[
35 |In DC welding, straight polarity is '5‘1??[ afeS d, Wil gatoar &t dxgfa Hafafag O
recommended for which of following case? q fog fRUfT o 31 St 82
A) Welding with heavy coated electrodes A) HRT aftd gﬁa@j—s’ & Y g7
B) Welding with light coated electrodes B) <! AfUd Sdiaeis & W1y afeaT
C) Sheet metal working C) e Ui B
D) Welding with super heavy coated D) 3ifd 4R it Solacie & 91y afesT
electrodes "
36 | Among the following, which of the following | Fgfeed & 9, A9 & ¥ &1 It ufld e g0y T
deposits a large amount of weld metal per unit | 3cg YT B! UDh TS| HIEAT STHT Bl 87
time? A) P g o Saegis
A) Low hydrogen electrode B) YR Tiftd Saiacis
B) Heavy coated electrode C) A8 USSR SAHRIS
C) Iron powder electrode D) Ted U3 TadIe
D) Deep penetration electrode B
37 | Arc length in an arc welding process should be | 31T AfcET Ufhal | 31 B Tals TTHT fhIPp

IR gl 87

A) SAFIS DT AN(d)

B) 1.5d B) 1.5d
C) 2d C) 2d
D) 3d D) 3d
38 | Which of the following property of cast iron | Tdfdbd dle ﬁ%wm% HRUT 4T DT
makes it difficult to be welded? fewd giar|?
A) Low melting point A) H TeHi®
B) Low fluidity B) ®H YdTigdl
C) Its hardness and brittleness C) SHD! HAIRAT 3R IR
D) High compressive strength D) I3 e Tfed
39 | The selection of nozzle for pipe welding | UI3U afeET & T AGId &l T4 fhg TR MR
depends upon: PAT ?
A) Groove angle A) Jd BT
B) Pipe wall thickness B) UISY aTd
C) Pipe diameter C) UISY O™
D) All of the above D) SWRIad g+

40

Soldering iron is made of copper due to which
following reason?

A) It is heavy

B) Bad conductor of heat

C) Thermal expansion is more

D) Good conductor of heat

CIhT ST aTdll <ligl 1hd HRUI did | &1 8IdT 872
A) T8 U §

B) ST T $ATP o

¢) Ay fawR i @

D) &1 &1 AT &
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TH GYTD DI BT BT SUTNT fvd H HEAT

41 | A collimated light beam is used for producing
heat in: I B & fore o wire &7
A) TIG welding A) ¢ 31T St afegT
B) MIG welding B) TH 3715 Sff afca
C) Percussion welding C) 3fTaTd afegT
D) Laser welding D) AoR afedT
42 | Which of the following is used for eliminating | fSrsTell & HRUI Tl ST Pl WeH bR b Q¢
the fire caught due to electricity? A Q g SugNT forar ST | ?
A) Using oil A) dd BT ITART
B) Conductive agent fire extinguisher B) UATg 1Y HIRIHE Tole
C) CO; fire extinguisher C) CO, T H
D) All of these D) 'a qq_ﬁ
43 | The presence of which gas in the weld metal has | 98 ¢1g A frg T 31 IR & HRU GRR BT
harmful effect leading to crack? BIMBRD THId TSdl 87
A) Oxygen B) Hydrogen A) SiTeRiter B) GRS IS
C) Nitrogen D) None of these C) TZESH D) 394 ¥ PIs el
44 | The word ‘LASER’ is an acronym for which of | 'LASER' Rlsq Fofafad & 9 feus fou ue dfea
the following? aqe?
A) Light Amplification by Stimulated A) IEC URABIH 918 Widcs TR 3Hith
Emission of Radiation AT
B) Light Augmentation by Stimulated B) WIgc 3N §18 K igdcs THRM 3H
Emission of Radiation Y=
C) Light Augmentation by Sustained Emission C) QIS SHSYH §1E qus TR 3
of Radiation AT
D) Light Amplification by Sustained Emission ; v
fRadintion D) QST URAHIHRH d18 JHCS THRH 31
45 | Sugar at Rs.15 per kg is mixed with sugar at | 15 % e AT 20 T fooe AT & WA 23 F
Rs.20 per kg in the ration 2 : 3. Find the price | 3rqarad ¥ fAf%d &t Wt 2 | s &1 g ufa
per kg of the mixture: oo a1, F1d BIfoR:
A) Rs21 B) Rs 17 A) T 21 B) T 17
C) Rs18 D)Rs 19 €)% 18 D) ¥ 19
46 | If five items are bought for Rs.345, Rs.375, | 3FR U a&q ¥ 345, Rs 375, Rs 225, Rs 255 3R
Rs.225, Rs.255 and Rs.300. then the average | Rs 300 HeU TR WRId! Sl §, Y a¥g &1 3Hd Ged
price of the item is? R e?
A) 340 B) 350 A) 340 B) 350
C) 280 D) 300 C) 280 D) 300
47 | A man goes to Mumbai from Allahabad at a | U 3iGHT 40 fHH/EcT &1 T1id T ARG I Hoig
speed of 40km/h and returns with the speed of | SdT § iR 60 fopwl/der @t 7fa ¥ el gl @
60km/h. What is his average speed during the | I&T % SR I ! SNd T T 272
whole journey? A) 50 farHi/eer B) 48 fohHi/eicT
A) 50 km/h B) 48 km/h C) 45 fopdi/eer D) 52 faHi/ger
C) 45km/h D) 52 km/h
48 | If V15 = 3.8729, evaluate (N5+V3)/(N5—3) Tfe V15=3.8729 &, Al (V5+3)/(V5-V3) Tedidh1
A) 4.7289 B) 6.8729 Hifor:
C) 7.8729 D) 8.8729 A) 4.7289 B) 6.8729
C) 7.8729 D) 8.8729
49 | Mohan can finish a job in 60 days whereas Ram | Hig U &1 &l 60 fef & ORI Il 8 SIafe I
can finish the same job in 20 days. If they work | It Hrf @1 20 fi A ORI el HEIFC RG]
together the job will be over in? P B4 8 @ B fhaq fa & qri gm?
A) 15 days A) 15 fea
B) 30 days B) 30 fa=1
D) 40 days D) 40 &
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50 | A train 140m long running at 60kmph. In how | T 140 Hiex odll ¢ 60 fHHI Ul € P AR J
much time will it pass a platform 260m long? | GiSdl 81 260 HiX Td QHIH Bl UR B |
A) 44 sec B) 24 sec fooa= gug @TT?
C) 36sec D) 58 sec A) 44 IS B) 24 ¥HS
C) 36 A4S D) 58 g
51 | If cos®=—3/5 then find tan®, where 0 is an angle | Tf¢ cosd=—3/5 Tl tand I HIA, &I 0 Tgdg
in the second quadrant: agzrfi[ T B 7:
A) -4/3 B) -4/5 A) -4/3 B) -4/5
C) 473 D) 3/5 Q) 4/3 D) 3/5
52 | The length of the longest pole that can be placed | 10 HIex x 8 Hiex x 6 HIeX AW & TP 8d |
in a hall of dimensions 10 m x 8 m x 6 m, is: 3@ Ol I aTell Ja9 adl &Y Pt dals fhant
A) 9m B) 8V2m Suik
)] 10V2 m D)llm A) 9 | B) 8v2 Hi
O 10V2 4t D) 11t
53 | What is the value of (sin15%+cos15%)*+(sinl15%- | (Sin15° +cos15%2+(sin15°-cos15%? T A T &7
008150)2? A) 1 B) 2
A) 1 B)2 Qo0 D) -1
C) 0 D) -1
54 | If the surface area of cube is 486 cm’, then its | TfG T JYIT &AHA 486 A §, Al DI AT
volume in cm’® will be? I | 7 e
A) 729 B) 625 A) 729 B) 625
C) 743 D) 216 C) 743 D) 216
55 | Three cubes whose edges are 8 cm, 6 cm and 1 = 9 5P [FIR HH: 8 @Tﬁ, 6 T 3R 1
cm respectively are melted without any loss of | It § 1 fomT fomeft erq I & fUrareman SIran 8
metal into a single cube. What is the edge of 3R I TP U9 IR fHAT ST 818 | AT O &7
cube? fooRT =T BYIT?
A) 10cm B)9cm A)10@Iﬁ B)9@Tﬁ
56 | Guided bend test is used to determine which of | ST §8 X &I IYANT FAFfIRId T ¥ fHud!
following: fifa s & o forar Srar 82
A) Tensile strength A) 99 Qfed
B) Ductility B) T=dl
C) Impact value C) WHE g
D) Percentage of elongation D) 9fg ufaerad
57 | What is the effect if the tungsten electrode tip | TR Saiacie U fUge™ 3R de8 U1 R oAl
melts and deposit on the weld metal? B UR 31 UH1G usdl 27
A) Stabilizing the arc A) 3MTeh FRRET
B) Crack B) &RR
C) Lack of fusion C) RITH T UG
D) Contamination in the weld D) dee § §
58 | Which welding procedure is safe to perform in | TH 3/GRIT H ®H & [T DI Al afcsT Ufehal
wet condition? Rfea Bt 87
A) Oxy-acetylene welding A) Sfieit-uRifeet afedn
B) Arc welding B) 3iTeh AfcaT
C) MIG Welding C) TH 3MTS it afcgT
59 | Which of the following low heat input electrode | FgfRad & ¥ 14 I A5 SvAT 3Td 3dacls &
is used for repairing cast iron work? IR HRE IR TP B AR H T 91l 87
A) Monel electrode A) TFd SAaIS
B) Low hydrogen electrode B) 1Y SIS Salacie
C) Silicon bronze electrode ¢) e 1 wiw saacis
D) Tungsten electrode D) &R 3adeIS
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60 | Which type of joint is used for spot welding? Wic dfesT & T 69 TeR @ Sise & T
A) Butt joint B) T joint fpar S e?
C) Lap joint D) Corner joint A) 9 Slige B) A Silgc
C) U ise D) HIR s
61 | Low hydrogen electrode are baked prior to use | ¥ gsIoM Stacis &I SUANT ¥ Ugd 9 fag
in order to: YT o1 82
A) to obtain proper strength A) 3fa ame urg w5 & fag
B) make welding free from arc blow B) Afc& 3T 3icp T o] R & [o1g
C) make welding free from moisture pick up C) afT 7+t AT 7°M + forw
D) minimise the required Current D) HC P HTTIHN YAdH P & g
62 | Which of the following welding process uses | F@faiRad A ¥ P4t afen uihdr IuHA
consumable electrode: ZATCIS BT IYUNT B 32
A) TIG B) MIG A) <t s St B) TH 3MTS St
C) Thermit D) All of the above D) SWRIad g+
63 | In coated electrode rod in arc welding which of 3-I'I$ JfET # <fug 3@3@’6’ s & aR #
the following is correct? ﬁ'{?ﬁi@ﬁ oY HH I Y ﬂ'ﬁﬂ 77
A) Both rod and coating melts simultaneously | A) IS 3R HIfeTT SHI vap T fuard §
B) Coating melts first and then rod melts B) PifeTT Uga et | fhr s fuadt §
C) Which melts first depends on polarity used | C) &1 Ugd fUgavT 9 ST B! TS YR TR
D) Rod melts first and then coating melts A o %
D) 7S Ugd fireer! g iR iféT fimerd &
64 | What does the 3™ digit number “2” represent in 3@3@3 EB5426HIJX & ROl H ﬂ?ﬁ'q R WX
the classification of electrode ‘EB5426HIJX’ ? sﬁfﬁ I G o "2 11 i %?
A) Polarity A) Uiaiet
B) Welding current B) afcET Hic
C) Welding position C) afcT fRf
D) Type of flux coating D) TS BT bl UHR
65 | Which of the following electrodes can be used | FHfRIT Soiaglie T ¥ ®F T Soidele T 3R
on both AC and DC welding machines? RIS AT =i R SeaHTe BT o Ibd] 22
A) Mild steel coated electrode A) TTHT ST fUd SAaeIS
B) Aluminium electrode B) TegiifgH Saiagis
C) Bare metal electrode C) 3T YT 3T
D) Carbon electrode D) BT gaaag
66 | The unit of measurement of EMF |3 UHUH (ﬁ?\{gﬂ dlgd dd) & HIUA &I SPHI5 T
(Electromotive Force) is: 7
A) Ohm B) Volt A) 3fH B) dice
C) Ampere D) Watt C) TR D) 4l
67 | Which of the following welding process is ﬁ'gl%l@'d Y DF 1 ol Ulehdr I B Ueidl
widely employed to weld railway rails? Pl deS B & AT AUS ¥ Y F YIRT B A1t
A) Thermit welding 7
B) Ultrasonic welding A) YHiSe afeET B) SfecNII® afcaT
C) Explosive welding C) THIRg afeeT D) R afeeT
D) Percussion welding
68 | Which of the following should not be used on | FHfRad ¥ ¥ w1 19 Ridex, ¥Woex 3R &g
gas cylinders, regulators and holes? WR AT -Ta! fopar ST Trfgu?
A) Teflon tapes B) Leak detectors A) UG 2T B) i fgcaex
C) Oil D) Wrenches C) ad D) k=
69 | The flame starts burning away from the tip, this | If¢ 3T %ﬁ?ﬁﬁﬁﬁ T Eﬁﬁ?ﬁf@ﬂ =k
can be corrected by which of following way: g 7% 9 3 fovar o1 goar &7
A) The pressure of gases is to be reduced A) T BT SE1d HH B
B) Cool the torch B) TSl 1 &8T
O Deprease the volume .of oxygen 0) 3iffiei & AET HH R
D) Oirifice of the nozzle is to be cleaned D) ST 755 B W
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70 | Incomplete fusion during welding is due to | AfET & TR B{QPf LU Fafefad fog R
which of following reason? SRIBIdI 27
A) Very high current A) Sgd 318 BT & BRI
B) Very low current B) 9gd HH INC o HRU|
C) Very wide weld bead C) 9gd A58 AT a8 & R
D) None of the above D) SRIGd § A B3 el
Section B (Question No. 1 to 30)
1. | First country to appoint Lokpal or equivalent AP uTd g1 AP UTd b JHbe gea I
to a Lokpal is: aTell Ugell o=1 Fafiied & &F 9 g7
A) Brazil B) Burma AT ( BSH] (
C) Sweden D) India cf=T ( DHRA (
2. | Which country is the largest producer of Rice? | Tdd] BT Jad HYb IdcH < FAgfef™d
A) Brazil B) China oA AT R?
C) United States D) India ASTSIT ( CiC] (
CHYad T ( D (HRd
3. The leaning temple of Huma is dedicated to §HI BT DT g3l Hfex fog %g WTGH B
which Hindu God? gufdd g2
A) Shiva B) Rama
C) Krishna D) Hanuman égl_;[? ( Eﬂ%ﬂ (
4. The journalist who refused to accept ‘Padma S TEeER A T yyur DI WIR HFE T
Bhushan” was? SR & fean o, Fafifed § oF 52
A) Shekaran Nair B) Khushwant Singh QHIT AR W :
C) Ratan Thiyam D) Arun Shourie ?T(F[ e ( ?))) 3[BT Q‘?%g
5. Rajya Sabha member has a tenure of? ST HT g hl or>|qror>|c1 far G\Idl %?
A) 8years B) 6 years A (8 T B (6 T
C) 4years D) 2 years C (49 D (2 T
6. During an emergency all of the following | 3OTddhId i U A Fgfead o foa qd
fundamental rights are suspended, except: HfIPRI Pl Brem g4t Rdfag o= fed wrg
A) Freedom of Association % )
B) Freedom of Speech and Expression ' Tt e TeE [l
C) Right to Life and Personal Liberty a aﬁ?ﬁj{f\aﬁ S @ T
D) Freedom of Assembly without Arms BHIUT ) XA (
CSitaH SR SgfeiTel Tzl 1 SRAPR (
D @RIR & A1 gHT 1 Wi
7. | The National Anthem was adopted by the AU 4T gRT SUIIE] DI B ™ TTT?
Constituent Assembly in: A) 24 qg 1949
A) 24™ May 1949 TEER
B) 24™ November 1949 B) ij GFIEIﬂ1 1949
C) 24" January 1950 C) 930
D) 24" June 1950 D) 24 Sf7 1950
8. | Who holds the power to increase the number of | RUfaiRed § I HIF Jal= g o
Judges in the Supreme Court? IRl & T s @ Xfed 9T %?
A) Prime Minister B) President AT T B '
C) Parliament D) Ministry of Law . ( g % .
CHYq ( D) HATT
9. | What is the International Date Line? &mﬁgﬁ RIDESCIC P IRE,
A) It is the Equator ATT %wm B (
B) It is the 0° Longitude B TG (0° IR %
C) It is the 90° Longitude c 90° 2R &
D) It is the 180° Longitude ) 98 0 ders
D) Ug 180° SRMR &




NCL -Written test for the Post of Technician Welder (Trainee) Cat. II, in reference to E.N. 466/10-07-2020, SET A

10. | What is the chemical name of common salt YR 90D HT IEEARS 11 1 % o BH
that we eat? T 22
A) Sodium bicarbonate iy W
B) Sodium chloride A@%‘q‘q m (
C) Sodium salicylate B (
D) Sodium hydroxide cHliSaw {léla (
DUNSTH BIESIHTES (
11. | The gland in the human body which secretes | A9 YRR H U Sl TMgH 3R SHIF I
both enzymes and hormones is: B G Hd %:
A) Liver CE|
B) Pancreas A SRS
C) Salivary gland B : (
D) Pituitary gland CTR U ( o
pftegedt (
12. | Minorities Rights Day is observed in India on: | YRd T 3[cUTH® HIPR a9 o TART
A) 23" December B) 5™ September il %—)
C) 1* December D) 18" December A (23 R B (5 RdaR
c (1 fldisR D) 18 fageR’
13. | Which Indian city has been chosen by the 5T YR TER &) f9y §F 7 3 9
World bank for setting up its back-office P s & foro Eqll %?
operations? it CARCARII
A) New Delhi B) Kolkata A’%i; Bw (
C) Chennai D) Bangalore & ( D (
14. | The largest herbarium of India is located at: URd ] I99 CE| TTfq SUBaY Fal (Yd
A) Kolkata B) Lucknow %?
C) Mumbai D) Coimbatore AP IAB ( BERES (
CHE ( DPIIRIER (
15. | Molten rock below the surface of the earth is | Gl @1 Tdg & -i1d fUHell g5 9@ &I G & I 1
called? CASIGIN
A) Basalt B) Laccolith ASHIEE ( BABIIY (
C) Lava D) Magma Cd[dI ( DA (
16. | The Andaman is separated from Nicobar by 3-@1:“7-[ Pl FPER I 3 HI Il oA
vﬁl)ic?lvg a;ler bo?y? B) 10° channel aq% ﬁ@rﬁqm%’aﬁ?
channe channe 0 0
C) Palk Strait D) Gulf of Mannar 2 g[% @_c' E)(%R & @I@
17. | The Ghatampur Thermal Power Plant recently | gl BLT f[ Piec g‘m W YIcHYR m:fa
agl))r(;{/e.d l:g Cabinet is to be setup in: UraR Wic d Dol T 2fig fear siET %7
ajasthan AT
B) Uttar Pradesh AW qa'-‘l([
C) Karnataka B (
D) Madhya Pradesh C (
D) A% U
18. | What is Dakshin Gangotri? cferon e fRafafea B | e?
A) River Valley in.Anc.ihra Pradgsh A) 3ig Y H A<t urdt
B) Unmanned Station in Antarctica R3[CTHRHT i AT T%?[ RYH (
C) Second Source of River Ganga T TS BT A
D) Island in the Indian Ocean g) Re ad f[” - (
19. | The International Judicial Conference 2020 &mﬁgﬁ RS AT 2020 FHT STASH 21
was held from 21 — 23" February, 202.0 in: T -23 BRaES, 2020 d& Fgfafad § @ oaf
A) Tokyo B) New Delhi &1 T4
C) Paris D) Bangalore |
) ) Bang ol 57 Rt (
CUR ( DITAR (
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20. | Which city is called the Silver City of India? | f&¥ X8R Bl HRd BT Ricar RISt Ha1 91d1 87
A) Jaipur B) Cuttack_ AGTITR ( BHCH (
C) Kolkata D) Madurai ARG ( (-q—sna—g
21. | Lord Buddha breathe his last at: HITdH §& 7 3ifqy I ﬁ'&'ﬁ@ﬁ ooy
A) Rajgir B) Bodh Gaya ™YE W A?
C) Sarnath D) Kushinagar ARSI ( g TR (
CHRAY ( D

22. | Mahabalipuram was established by which 'HB’IE[I%IW fhg ISR gRT RITEI?[ forar man

dynasty?
A) Pallava B) Pandya qc—ﬂa SRl
C) Chola D) Chalukya é?ahﬁ ( ( I[B)El'lﬂa?(:[ (
23. | The Krishna Raja Sagara Dam (KRS Dam) is | [T ISl IR e[ )KRS dig) fPaadtmw
built across which river? Ragr
A) Krishna B) Godavari Fw Tead
C) Mahanadi D) Kaveri én‘s'ﬁa‘(’r ( IIBDW ( (
24. | Where is the Bandipur National Park? SidIgR T@t{ I Hal ([Ud 87
A) Rajasthan B) Andhra Pradesh AITSTRIT ( B3{IY T (
C) Karnataka D) Assam CHACH ( D3R (

25. | National Environmental Engineering Research QTQTH TG0 SOl =TT STHY IR W

Institute is located at: Rag
A) Pune B) Delhi ot
C) Mumbai D) Nagpur Ag(g[ég [B):I'ITI'ER( (

26. | Araku Valley is a hill station and valley region 3RD el fog Iy 1 RIg Udh %F[ YA

S,iAtl)latlgd iri which state? ) Andhra Pradesh R U & 72
erala a Prades I3 T8l T
C) Karnataka D) Tamil Nadu ém% ( B&nﬂ%ﬂﬁé
27. | Hampi is a UNESCO World Heritage Site | 3w} Th qﬁﬁﬁ fay ?.Iﬁ'e&' | % o
located in which state? Rufefad fog Tsa & R g2
A) Kerala AT (
B) Andhra Pradesh 3{e TR
C) Tamil Nadu B (
D) Karnataka Q) e g
DI (

28. | Rajiv i§ the br(?ther of Atul; Sopia is the. siste.r. NSIEl 3{dd &l ’J-l'lé %‘ @ﬁ'&n ﬁtﬂﬁ P LRG| %’
of Sunil; Atul is the son of Sonia. How is Rajiv | et Gif+ar &1 e o1 Ioig A T feg
related to Sonia? UPR W %—,

A) Nephew B) Son 1)
C) Brother D) Father A / BYA(
CHTS ( pfud (

29. | A poleis 90 m long. It is colored in white, Toh Td™ 90 eI T %l g 5:6: 7. P 3[qurd
black and blue in the ratio of 5: 6: 7. Whatis | 7 gthq, PIal IR NI T H TN TWH &
the length of the white part of the pole? The YT & Fﬁﬂé o %?

A) 30m B)15m A) 30 i B (157
C) 20m D)25m
) ) C (20 Ht D) 25 I

30. | The simple interest accrued on an amount of 6 T & 3fd & 9530 ST B AR W 3fold
Rst}?S?aOtat ttile tend (;f6 year?s is Rs 2850. What | JreyRor -@:"\—,[% 2850 TUY § | STl &% Ufa=Id
is the rate of interest p.c.p.a? Uiy 7 &2

A) 5 B) 7 ’
) 9 D) 11 A5 B (7
c© D) 11




